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3. Solve tucl{c_:qu;ltiuu. Verify the solution.

A
a) —205 =Pb)+ 167 7\
319~ %
L 3
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b) %+ 12=-22
} /"7"‘ M
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[g: |0.‘,}7
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d) —2.3(x + 25.5) = ;3,%% s gt

—DB3x — 5%,(05=-‘5? 3

~d.3x = 515
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4. A kite has longer sides oflcngth'?).l cm and ¥ ¥ 3\ ¥\ = 8' '4

a perimeter of 8.4 cm.

a) Write an equation that can be used to 2 _ 2 .l
determine the length of a shorter side. X = !
b) Solve the equation. & ol

¢) Verify the solution.
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1. Solve each equation. Verify the solution.

_?2\()( go-‘\ &\3x &\5W (\ g)
E)T——LI.D,H%U b}—é+2m=—%
- N "
—1s 7o —Sr30m = -3
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20vn =
’)Q:&\ ’é‘of \5‘0
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8. Kevin is planning to rent a car for one CO P :) “
week. Company A charges $200 per week, _
with no charge for the distance driven. O~ C - Q‘OO
For the same car, Company B charges a $25
administration fee plus $0.35 per {5
kilometre. Determine the distance driven C oy W‘ﬁ

that will.result in equal costs at the two C ) a 6 10 Q é
companies. -
a) Define a variable and write an equation
that can be used to solve the problem.
b) Use the equation to solve the problem.

) Verify the solution.

b) 260 = 25%0:35) C) Vev: $v)

Qooﬂj ‘Jts/:,< 0.45d A0 26 1035¢

1S = 0: 359 25 o)

035

0:3% 15 + \15

7 60

S\;s.\r"\/\
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10. Define a variable, then write an inequality
that describes each situation.
a) Persons under 18 are not admitted. P L \%
b) A person must be at least 90 cm tall to
go on an amusement park ride. 4 2 10
¢) Horton can spend a maximum of $50. ‘) [ 60
d) A game is recommended for players -

P25

5 years and older.
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11. Write the inequality represented by each
number line.

<t 1 — L o
9 8 -7 6 -5 -4 -3 X*—S

b) =

—————— 7(335
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d ————+—+—++ot—+—+F—+—+> XZ\}

, . X <)
4 3 -2 - 0
o —
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15. The cost of a prom is $400 to rent a hall, gte/k P represent
and $3.0 per person for the meal. The prom he  nibov o pesgie
committee has $10 000. How many
students can attend?
a) Define a variable and write an inequality
to model this problem.

b) Solve the inequality, then graph the

cndiatine

—

55 SOp tHoo < o 00O

P ~{ 0L
) 20p YH00 = o 000

30p £ 0O

-_—

30 350
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16. Solve each inequality.
VEI‘IIY and graeh the solution.

a) 7+y<25 ]—? <14
ERV =
RE
—t— &
Iz 13 19 3 -z -l
W < W) 5. 5.
¢) f > =25 d)52 — y < —5.5

(x> 10\ 3

10
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i - f) 24+3a=—-6+7a
e) 13 >+ 2y =185 A
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Practice Test Page(3 10(Practice test)

2. Solve each cqwiﬂn. +0.% 26(X\ YA (x)
a) —3x — 0.7 = —7 b > =5-15
“Ix =63 26=5u-1.$¢
-3 -3 Jdo= 3.8x
— — f
(x =2\ ' 3.5
X =6
2.5
O W A au
0 §+ 54 = —32 d) 2.4w — 5.6 = 3.7 + 1.9w
AT et 6.6 45,0
¢ Flea = 90 QvSly ~5.6 = 31

'r? f;ls.gi O.5w = 43
0.5 0.5

12
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1 > EL‘FZ fy 4.5(1.2 — m) = 2.4(—=2m + 2.1)
*\,h‘i)w\ /\,L«],‘b\"‘

D.4 "4 5m = B 5 0Y

/5(/
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C <Y = Jc +73 5.4
N N YO0 T 55y

/3 Bt
-4 =C ¥+3

-lx = ¢C
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3. To cater a lunch, Tina’s Catering charges $100, plus $15 per meal.
Norman’s Catering charges $25, plus $20 per meal.
Determine the number of meals that will result in equal costs
at the two companies. M=) # of meals
a) Define a variable, then write an equation that can be used
to solve this problem.
b) Solve the equation. Verify the solution.

@) Tina's Nemans
IS +100 A0m +25
\5m A
D I5m4+loo = &0m + a5

‘L{ /ZS’

’OO’ = Sm+

Bz om
T 5

m=05

April 22, 2021
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4. Solv/g each inequali
a) 5—t>73

<t 7-a

T
il

—b——
blﬁZ‘f

y. Veri
b) 3(t +2) =11 — 5t

5%
It+e > ll-st*

s .
gt +¢ > ("

8> 5
8 g

i'L-Z ‘_5.8
g

———

£

bl
]

o\

graph the solution.

5!:

April 22, 2021
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m 1
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—
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5. A car rental company charges $24.95 per day plus $0.35 per kilometre.
A business person is allowed $50 each day for travel expenses.
How far can the business person travel without exceeding her daily budget?
a) Define a variable, then write an inequality to solve the problem.
b) Solve the problem. Graph the solution.
How do you know that your answer is correct?

0}&19’-& ”K“ rq:rcscr\‘(: humber of Kilometres

B 2495 +0.35K £ 50

413 24495
) 24.95 +0.35K £ 50

0-35K £ 2505
) " 0.35 0. 35

K L7716

<0

o He b

[ —

16
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6. Two students wrote these solutions on a test. Identify the errors.
Write a correct and complete algebraic solutjon.
Gy W) (%)

_1',(_:_‘2,#‘5

a2 45 +8

4x:‘c—54ﬂ c -6 =12,
c 12

= [Q/ ::,,?,0\

April 22, 2021

17



Day 17_18_Test_Review _textbook_Answers.notebook April 22, 2021

6. Two students wrote these solutions on a test. Identify the errors.
Write a correct and complete algebraic solution.

+2X +ix
- — Xy L -8-Ux
) x+4e-8-12x g y
yh-47-§-2x-4 - -
R 3x+4 £ -8

<+ 2x > -12-2x*1x

3 AD 3x & -12

= 3T 3

K & -t

18
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